Unit 3 - Solving Quadratics 3.14 — Notes
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Solving éuadrahc Equations by Completing the Square

Today's Question: When is it useful to solve quadratics by completing the square?
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Solving Quadratic Equations by Completing the Square

1. Rewrite so all terms containing x are on one side.

2. Find the number that completes the square on the left side of the equation. Add
that number to both sides. (Half it, Square it, Add it!)

3. Factor the perfect square trinomial on the left side of the equation. Simplify the
right side of the equation.

4. Take the square root of each side.

5. Solve for x.

6. Check your answersl!!

Solve each equation.
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Try these on your own.
Solve each equation.
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5. The length of a rectangle is 4 cm greater than its width. If the area of the
rectangle is 108 cm.2, what are the approximate dimensions of the rectangle?
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6. If the volume of this box is 96 cm.3, find the dimensions of the box.
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